[REHX FEEBE]
128 | 1A
= il B RS 17[18[19]20[21[22[23[24]25[ 26]27[ 28] 29| 4 [ 5[ 6 [ 7 8 [ 9 [10[11]12
aEEEERRREE R ERREERE RS
REEE | gEmy | FHIH0~12:00 x| [% o|o|o|ofo|o *
R | sEmy | FEI2:50~3:10 #| | |x|o|olololofolo| | [ *
B omk | wmes | FHOs0~0 ) #|x| | |o|o|o|o|ofolo]| | |*
= Yol H4:30~6:30
i
mmmAs | mEmy | TEZA0S000 1 L 1l | |x|o|olo|olofolo|B| |x %
M = =
6 1810 A0 =
sxe | g@my | T EI1240-3:00 #| | [*|o|olololofolo| | |* %
BRAm | gEmg | TE12:3052:50 #| | |%|o|o|ololofolo| | |* *
Mk | sEmy | FHOS0~11:50 % ololo| [olo] | |%|o| |o|x
sm | mEmg | TEI1Z5055 10 * o|o|o|ofolo] | [* %
b=FS HEEH | F%4:50~6:50 O|O|0| [O]|O|0O|QO|0|0 O
© 1/6 OK) ICEEREZTLVET,

FRFOFMIIZTHEABHOEbE LT,




